
10)  

a) 
b) 
c) 
d) 

 
a) 

b) 

c) 

11)  
a)

b)

c)

Grade: X
Full mar
 
Attempt 
  
Rewrite t
1) W

 
 
 
 

2) W

Write an 
Soft iron 
Discuss t
A transfo
equivalen
i) W
ii) W

Explain H

In Hall ef

A Hall pr
is 2.0 cm
Hall pote
i) 4
ii) 6

) What is 
rather tha

) The half
average 
microgram
that the a
in 1 cm3 o

) Analyze 

XII Subject:
rks: 75 (11 m

all the ques

the correct 
What happen

a. volume
b. Pressu
c. tempera
d. the sys

Which of the

expression 
is used in m
the sources 
ormer conne
nt resistance

What should 
What r.m.s. c

Hall effect. 

ffect, derive 

robe consist
m. wide and 0

netial is  
.0 μ V and 
.0 μ V 

the evidenc
an the atomi
f life of the 
number of α
m is about 1
approximate
of polonium.
some medic

: Physics (10
marks Obj+

stions:  

option in y
ns in adiaba

e remains co
re remains c
ature remain

stem is insula
e following is

for energy s
making the co

of energy lo
ected to a 12
e of the syste
the ratio of p

current must 

an expressi

s of a coppe
0.10 cm. thi

ce that elect
c electrons?
body polon

α- emission
12 X 1012. A

e density of p
 

cal uses of ra

Mod
02)  

+ 64 marks S

Group 
your answer
atic process?
onstant 
constant 
ns constant
ated from th
s the most ef

106

stored in an 
ore of a tran

oss in practic
20 V (r.m.s.
em is 5.0Ω. 
primary to se
 the second

OR

on for Hall V

er strip, n = 
ck. Calculat

trons emitte
?
nium 210 is
 per day fro

Assuming th
polonium is 

adioactivity.
 
 

del Question

Sub) 

“A”
r sheet:
? 

 

 
e surroundin
fficient? 

inductor?
nsformer, wh
cal transform
)  to a porta
 
econdary tur
ary supply?
R 

Voltage VH =

8.5 X 1028 e
e the magne

ed in a β - d

s about 140
om a mass 
at one emis
10 gmcm-3. 

n -5 

ng  

 

hy?
mer.
able electron

rns of the tra

net
BI= where 

electrons pe
etic field wh

decay come

0 days. Dur
of polonium

ssion takes p
Estimate th

Time: 

11X

1 
2 
2 

nic device. T

ansformer be
3 

2 

t is thicknes

r cubic mete
en I = 50 A 

es from the 
2 

ring this pe
m initially eq
place per at
he number o

4 
2 

3 Hours 

 
X1=11 

The total 

e? 

ss.3 

er which 
and the 

nucleus 

riod the 
ual to 1 
tom and 
of atoms 

Set 5



 
 
 
 

3) W

 

4) T
 

5) A 
T

 
6) Q

 
 
 
 

7) If 
6

 
 
 
 

8) E
 
 

9) Tw
 
 

10) W
 

11) T

a

c

a. Carnot 
b. petrol c
c. diesel c
d. All of th

What is the p

a. π  

The variation

closed orga
Their lengths

a. 1:2 
Quantity of tw

a. their fre
b. their int
c. their am
d. differen

in the inter
6000A0, then

a. second
b. second
c.third min
d. an inter

lectromotive
a. electric
c.potentia

wo straight p
a. attract e
c.do not e

Which circuit 
a. resistan

he area of h

a. Permitivity

c.energy less

cycle based
cycle based 
cycle based 
hese are equ
phase differe

b. 
2
π

 

n of speed o

an pipe and 
s are in the r

b.2:3 
wo sounds is
equency are
tensities are
mplitude are 
nt overtones 
rference pa

n point P is  

d maximum 
d minimum 
nimum 
rmediate po
e force is mo
c field  
al difference 
parallel cond
each other 

experience a
element opp
nce b. indu

hysteresis los

y  

s per cycle 

d carnot eng
petrol engin
diesel engin

ually efficien
ence betwee

of sound in a

an open org
ratio 

s different be
 different 

e different
different
are there  
ttern S2P –

 

int between 
ost closely ra

ductor carryi

any force
posed the ch
uctance 

ss is a meas

107

ine 
e  

ne  
t 

en two succe

c. π2

 gas with its

 
gan pipe hav

c.3:4
ecause  

 
 

– S1P = 1.5

second max
anked to  

b. magne
d. mecha

ing current in
b. repel e
d. cancel 

hange in circ
c.capacita

sure of  

b. energy

d. magne

essive crest 

d

s pressure is

ve their first 

d

microns an

ximum and t

tic field 
nical force 
n opposite d
ach other 
Is each othe

cuit current?
ance d

y gain per cy

tic flux 

in the wave

d. π4  

 best repres

overtone ide

d. 4:5 

nd waveleng

third minimu

direction 

er’s force 
? 
d. impedance

ycle 

e? 

stened by cu

entical in fre

gth of light 

m 

e 

urve 

equency. 

used is 



Short an
1)  

a) S
c

b) A
C
f

a) D
b) A

m
c) A

w
no

2)  

a) D

c

b) W

c) P

3)  

a) W

N

b) T

c) W

4)  

a) D

b) W

c) A

m

w

5)  

a) S

b)  

i

i

c) F

nswer quest

State and p
conservation
A disc of M.
Calculate the
from its axis.

Define angul
A planet re

momentum co
A string is w

wheel is free 
ow pulled by

Define molar

capacity of g

Why CP > CV

Prove CP – C

Write down 

Newton’s for

The velocity 

Why is the s

Differentiate 

What is the c

A screen is 

minima lies 5

waves have 

State Kirchh

) Draw the 

i) Write dow

Find the valu

tions: 

prove princip
n of angular 
I. 5 X 10-4 k
e new r.p.m.
. 

lar momentu
volves arou
onstant over

wrapped aro
to rotate ab

y a force of 2

r heat capac

gas at consta

V? 

CV = R 

Newton’s 

rmula? 

of sound is 

ound produc

between int

cause of diff

placed 2m a

5 mm on eit

a wavelengt

off’s laws. 

circuit diagra

wn the balanc

ue of I1, I2 an

G

ple of conse
momentum.

kgm2 is rotat
. if some wa

um.
und a mass
r the entire o

ound the rim
bout its axis 
20N. find the

city of gas a

ant volume.

formula for

generally gr

ced in air no

terference a

fraction?

away from t

ther side of 

th of 5000A0

am of Whea

ced conditio

nd I3 om the 
108

 
Group “B”

ervation of a

ting freely ab
x of mass 0

OR 

sive star in
orbit?

m of a whee
as in figure

e angular ve

at constant p

r velocity of

reater in soli

ot heard by a

nd diffractio

he sinlge na

the central 
0.

atstone Bridg

on of Wheats

circuit.

angular mom

bout an axis
.02 kg is dro

n a highly 

l of M.I. 0.2
e. Initially the
locity of the 

 

pressure (CP

f sound in 

ds than in g

a person dee

n of light.

arrow slit. Ca

of the centra

ge circuit.

stone Bridge

8X

mentum. Gi

s through its
opped gently

elliptical orb

20 kgm2 and
e wheel is a
wheel after 

P) and molar

gas. How 

0.5

ases at NTP

ep inside the

alculate the 

al maximum

e circuit. 

X5=40 

ve any exa
2+1=3 

s centre at 4
y on the disc

2 

1 
bit . Is its 

2 
d radius 20 
at rest. The 
5 second.2

r heat capac

1-1=2 

1 

2 

Laplace co

5+1.5=2 

P. Why?2 

e water?1 

2 

1 

slit width if 

m and inciden

2 

1 

 

2 

ample of 

40 r.p.m.  
c 0.08 m 

angular 

cm. the 
string is 

city heat 

orrected 

the first 

nt plane 




